L

Y ’ | Y ’ 1
THIS DRAWING IS UNPUBLISHED. RELEASED FOR PUBLICATION ,1998 MATED WITH LoC DIST REVISIONS
VERTRAULICHE UNVEROEFFENTLICHTE ZEICHNUNG FREI FUER VEROEFFENTLICHUNG PASSEND ZU AENDERUNGEN
(© copvriaHT 1998 BY AMP INCORPORATED. ALLRIGHTS RESERVED. HE 10 Al _ TR SESCRIPTION SATE eV
BESCHREIBUNG
PR_OJEKT NR A 8 text for packaging corrected ECR-08-001868 22.01.08 SR ST
_ 21556 assembly directions
Screw version
. . . . |
Thermo Crimp version 3 L spring clamp version 1.7.8 | _
1 / \ i Si’l
9,10 F— M3x10 T ’ M3x10 \ M350 —
i ' ~ < ) . 5 X 22 | o
f$@%@%& ~ ﬁ$$@$$& f$@@@$& -
¢ <
po
Fi5 | 2 S aa i = ’
‘ —_——
| | | | | | | | | AL
| = i =
‘ o1 ‘ ‘ >/ ‘ ‘ 51 ‘ X )
' 3 ! ' o3 ! = = — distance for a safe
- - = = confact max: max: 21 mm
NOTES:
1 SUITABLE CRIMP CONTACTS: SERIES HE/HA
- OUTER DIMENSIONS OF INSULATION: MAX. 23,2 MM
Prlnhng 1_10 Thermo Zﬁ SUITABLE HOOD SIZE 4: SERIES HB; HD;HIP;EMV
/ \ SUITABLE INSERTION AND EXTRACTION TOOL:
+ + SCREWDRIVER 0,5x3 DIN 5264
6* 7* 8* 9- WO— A [Oni-ad- arranqemeni’ ASfriplenghr:Screwconecfion10mm
. . . . .// Spring clamp conection 10mm Crimp conection 7.5mm
Sl CR
® ®© 6 6 6 ‘ i
— . . . . & PACKAGING:
Te 2+ 3+ hse Oy A view from terminafion side 5 SETS IN A CARTON, PRE-MOUNTED
Q» b & SPECIAL PACKAGING: Krauss-Maffei
PACKAGING UNIT: 250 PIECES
Printing 1-10 Screw —
@ +\ b fixing screw stainless steel even 10 |M3x10
6 T 8 9 10 L1Lk L{ b |4 |4 |4 [fixingscew steel nickel plated blue 9 [M3x10
@ ® 6 06 060 10 contact socket spring clamp brass gold plated 8
U 10 contact socket spring clamp brass silver plated i
T2 3 4 5 ,
@ +/ 10 contact socket screw version brass gold plated 6
10 {10 10 |contact sockef screw version brass silver plated 5
1 ! cover spring clamp version light grey b
M3 50 1 cover crimp version light grey 3
| 11111 111 |cover screw version light grey 2
‘ | [} ‘ T[T 1 [ 1] 1] 1]1]1 |socketinsert light grey 1
. 0-310-2{0-1(9-5|7-112-31-7|1-1 DESCRIPTION MATERIAL SURFACE COLOR 'TESSN_D' REMARKS
Panel CU'I'_ou‘i' for Eontacf |nseri’ THIS DRAWING IS A CONTROLLED DOCUMENT FOR AMP INCORPORATED. DWN 09 02 99
S — — 1 2 2 |[alalalalalalalal | JEEEEREREREREE T " ATS Elkirofechnit
5 "DEN JEWEILS LETZTGUELTIGEN AENDERUNGS STAND ERFARREN SIE AUF ANFRAGE. chh , 18.02.99 53819 Neunkirchen, Germany
when used without housing - DIMENSIONS: TOLERANCES UNLESS chweiger
| = DIMENSIONEN OTHERWISE SPECIFIED:  |APVD _ |NAME
ﬂé} = mm ALLGEMEINTOLERANZEN - .
| |5 7 O Female insert
! |s|<|2 2 n. DIN 16501 - 140 PRODUKTSPEZ
57 2 el e O 3 E@ e A e Buchseneinsatz HE.10.Bu
I w |l wvm (Ve (V] Njulwvm | wm = 2 PLC #
S| s| sl 5| 3| 35| 5|8 3P # VERARBEITUNGSSPEZ SIZE | CAGE CODE | DRAWING NO RESTRICTED TO
65 Bl e e B il e sl e MATERIAL Flsll-gi//gg\élég[AEC:E/FARBE 7 e R
Slolololo|loco|loaolo | @ WEIGHT
— -— i el D e & GEWICHT _ AB 00779 @':' 1103637 _
e e e e B el e e CUSTOMER DRAWING /KUNDENZEICHNUNG[issstas 11 |aoarr f1won 1 |~ A8

AMP 1470-19 REV 27JUN96

This is a TRANSLATED file from

Computervision, Inc., Medusa Revision 12.2.5T

I




